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Let's compute the intersection of the ideals
I=(Xy-zX+y+72-1) and J={y—x% z-X)

We set up the ideal t-I+ (1 - t)-J and eliminate the
variable t by computing a lexicographic Gr"obner basis:

with(Groebner) :
BIntersection := Basis([t- (X*y- 2),t- (¥ +Y +7Z—1), (1 —-0)-(y-¥), (1-0)-(z

- x°) ], plex(t, x, , 2));
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seq(has(BIntersection[i], t), i = 1..nops(Blntersection) );
false, false, false, false, false, false, false, false, false, true (2)

This shows that only the last element of the Gr"obner basis contains t. The first 9
polynomials
give a basis for I N J.

for ito nops(BIntersection) - 1 do Blntersection|[i] end do;
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What does this tell us??
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